WEAK McCOY PROPERTY IN AMALGAMATED ALGEBRA ALONG IDEAL

MOUNIR EL OUARRACHI¹ AND ABDELMONAIM BOUCHIKHI^{2*}

ABSTRACT. Let $f : A \longrightarrow B$ be a ring homomorphism and J be an ideal of B. In this note, we investigate the transfer of the weak McCoy property to the amalgamation of A with B along J with respect to f (denoted by $A \bowtie^f J$) introduced and studied by D'Anna, Finocchiaro and Fontana in 2009. Our aim is to provide conditions under which $A \bowtie^f J$ is a left weak McCoy (resp. right weak McCoy, McCoy) ring. Our results enrich the literature with new families of left weak McCoy (resp. right weak McCoy, weak McCoy) rings.

1. INTRODUCTION AND PRELIMINARIES

In this paper, all rings considered are associative with identity elements. Given a ring A, A[X] denotes the polynomial ring with an indeterminate X over A. In [13], McCoy proved in 1942 that if two polynomials annihilate each other over a commutative ring, then each polynomial has a non-zero annihilator in the base ring. Following a suggestion by T.Y Lam, the second author made the following definition. A ring A is said to be right McCoy (resp. left McCoy) if for each pair of non-zero polynomials $f(x), g(x) \in A[X]$ with f(x)g(x) = 0, then there exists a non-zero element $r \in A$ with f(x)r = 0 (resp. rg(x) = 0). A ring is McCoy if it both left and right McCoy. Thus N.H. McCoy's result states that commutative rings are McCoy. Note that there are many ways to generalize his theorem.

In [7], Armendariz proved that $a_i b_j = 0$ for all i, j whenever polynomials $f = \sum_{i=0}^{i=n} a_i x^i$ and $g = \sum_{i=0}^{i=m} b_i x^i$ over a reduced ring satisfy fg = 0. In [15], Rege and Shhawchharia called the ring (not necessarily reduced) satisfying this property Armendariz ring. Thus, Armendariz rings are a generalization of reduced rings. Also, a ring A is called weak Armendariz if $a_i b_j \in nil(A)$ for all i, j whenever polynomials $f = \sum_{i=0}^{i=n} a_i x^i$ and $g = \sum_{i=0}^{i=m} b_i x^i$ satisfying fg = 0.

The foolowing diagram shows all implications among these properties.

Armendariz ring \implies weak Armendariz ring \implies weak McCoy ring \implies left weak McCoy ring.

Also Semicommutative ring \implies weak McCoy ring \implies left weak McCoy ring. Let A and B be two rings with identity elements, J be an ideal of B and let

Date: Received: Nov 19, 2022; Accepted: Mar 12, 2023.

^{*} Corresponding author.

²⁰¹⁰ Mathematics Subject Classification. Primary 16E30; Secondary 16E10, 16E05.

Key words and phrases. Armendariz rings, McCoy rings, weak McCoy rings, Semicommutative rings, amalgamated algebra.

 $f: A \to B$ be a ring homomorphism. The amalgamation of A and B along J with respect to f is the subring of $A \times B$ defined by:

$$A \bowtie^{f} J := \{(a, f(a) + j) \mid a \in A, j \in J\}.$$

This construction is a generalization of the so called the amalgamated duplication of a ring along an ideal (introduced and studied by D'Anna and Fontana in [2, 4, 5]). Also, many other classical constructions (such as the A + XB[X], A + XB[[X]], and the D + M constructions) can be studied as particular cases of the amalgamation ([3, Examples 2.5 and 2.6]). In this paper, we investigate the transfer of the left weak McCoy (resp. right weak McCoy, resp. weak McCoy) property to the amalgamation. Following our results a class of original examples of left weak McCoy (resp. right weak McCoy, resp. weak McCoy) rings are given.

2. Main results

The main result of this section, is the study of the transfer of right weak McCoy property in $A \bowtie^f J$ and the investigation of the conditions under which the amalgamation is a right weak McCoy ring. Similarly, we have the same result for left weak McCoy rings and thus weak McCoy rings.

We start by giving definition of weak McCoy ring.

Definition 2.1. let A be an associative ring with identity. We say that a ring A is right weak McCoy whenever $f(x) = a_0 + a_1x + \cdots + a_nx^n$, $g(x) = b_0 + b_1x + \cdots + b_mx^m \in A[x] - \{0\}$ satisfies f(x)g(x) = 0, then $sb_j \in nil(A)$ for some $s \in A - \{0\}$. We defined left weak McCoy ring similarly. If a ring is both left and right weak McCoy, we say that the ring is weak McCoy.

In the following proposition, we characterize when the amalgamtion of rings is semicommutative.

Proposition 2.2. Let A, B two rings, $f : A \longrightarrow B$ a ring homomorphism, and J be a proper ideal of B.

- 1. If A and f(A) + J are semicommutatives rings. Then so is $A \bowtie^f J$.
- 2. Assume that $f^{-1}(J) = (0)$, then A and f(A) + J are semicommutatives rings if and only $A \bowtie^f J$ is.
- Proof. 1. Let $(a, f(a) + j_1)$ and $(b, f(b) + j_2) \in A \bowtie^f J$ such that $(a, f(a) + j_1)(b, f(b) + j_2) = (0, 0)$, then ab = 0 and $(f(a) + j_1)(f(b) + j_2) = 0$. Since A and f(A) + J are both semicommutatives rings, then aAb = 0 and $(f(a) + j_1)(f(A) + J)(f(b) + j_2) = 0$. Thus for every $(r, f(r) + j) \in A \bowtie^f J$ we have arb = 0 and $(f(a) + j_1)(f(r) + j_1)(f(r) + j_2) = 0$ which implies that $(a, f(a) + j_1)(r, f(r) + j)(b, f(b) + j_2) = (0, 0)$. Consequently $A \bowtie^f J$ is semicommutative.
 - 2. For the first implication, follows from 1. Conversely, let $a, b \in A$ such that ab = 0, since (a, f(a))(b, f(b) = (0, 0) and $A \bowtie^f J$ is semicommutative then aAb = 0. Thus A is semicommutative. Let $f(a) + j_1$ and $f(b) + j_2$ such that $(f(a) + j_1)(f(b) + j_2) = f(ab) + t = 0$ where $t \in J$ then $ab \in f^{-1}(J) = 0$. Hence $(a, f(a) + j_1)(b, f(b) + j_2) = f(ab) + f(a) + f(a)$

(0,0). since $A \bowtie^f J$ is semicommutative ring, then for every $(r, f(r)+j) \in A \bowtie^f J$ we have $(f(a) + j_1)(f(r) + j)(f(b) + j_2) = 0$. Thus $(f(a) + j_1)(f(A) + J)(f(b) + j_2) = 0$. Consequently f(A) + J is semicommutative. As desired.

Now, we annonce the main result for the right weak McCoy property in amalgamted algebra. Notice that, we have the same result for left weak McCoy and thus for weak McCoy rings:

Theorem 2.3. Let A, B two rings, $f : A \longrightarrow B$ a ring homomorphism, and J be a proper ideal of B.

- 1. Suppose that $f^{-1}(J) = (0)$. $A \bowtie^f J$ is a right weak McCoy if and only f(A) + J is a right weak McCoy ring.
- 2. Suppose that $f^{-1}(J) \subset nil(A)$. If f(A) + J is a right weak McCoy ring then $A \bowtie^f J$ is a right weak McCoy ring.
- 3. Suppose that $J \subset nil(B)$. If A is a right weak McCoy ring, then $A \bowtie^f J$ is a right weak McCoy ring.
- 4. Assume that $J \cap S \neq \emptyset$ where S is the set of regular central elements of B. If f(A) + J is a right weak McCoy ring, then $A \bowtie^{f} J$ is a right weak McCoy ring.
- 5. Assume that f is injective
 - 5.1. If $J \subset f(A)$ and $A \bowtie^f J$ is a right weak McCoy ring, then so is A. 5.2. If $f(A) \cap J = (0)$, then $A \bowtie^f J$ is a right weak McCoy ring if and only if f(A) + J is a right weak McCoy ring.

Proof. (1) \Rightarrow) Let $f_B(x) = \sum_{i=0}^n (f(a_i) + j_i)x^i$ and $g_B(x) = \sum_{j=0}^m (f(b_j) + k_j)x^j$ such that $f_Bg_B = 0$. Then for $k \in \{0, \dots, n+m\}$, we have $\sum_{k=0}^{k=n+m} f(\sum_{i+j=k} a_i b_j) + t = f(\sum_{k=0}^{k=n+m} (\sum_{i+j=k} a_i b_j)) + t = 0$ where $t \in J$. Hence $\sum_{k=0}^{k=n+m} (\sum_{i+j=k} a_i b_j) \in f^{-1}(J) = \{0\}$. Thus for $F(x) = \sum_{i=0}^n (a_i, f(a_i) + j_i)x^i$ and $G(x) = \sum_{j=0}^m (b_j, f(b_j) + k_j)x^j \in (A \bowtie^f J)[x]$, we have F(x)G(x) = 0. Since $A \bowtie^f J$ is right weak McCoy then there exist $(r, f(r) + l) \in (A \bowtie^f J) - \{(0, 0)\}$ such that $(r, f(r) + l)(b_j, f(b_j) + k_j) \in nil(A \bowtie^f J)$ for all j. If $f(r) + l \neq 0$ we are done. Else, f(r) + l = 0. In this case $r \in f^{-1}(J) = \{0\}$ which implies that (r, f(r) + l) = (0, 0) which is contradiction. In conclusion f(A) + J is a right weak McCoy. \Leftarrow

Let $F(x) = \sum_{i=0}^{n} (a_i, f(a_i) + j_i) x^i$ and $G(x) = \sum_{j=0}^{m} (b_j, f(b_j) + k_j) x^j$ in $(A \bowtie^f J)[x]$ such that F(x)G(x) = 0.

Set $f_B(x) = \sum_{i=0}^n f(a_i)x^i$ and $g_B(x) = \sum_{j=0}^m f(b_j)x^j$. Then we have $f_Bg_B = 0$. Hence there exist $(f(s) + t) \in (f(A) + J) - \{0\}$ such that $(f(s) + t)(f(b_j) + k_j) = (f(sb_j) + l) \in nil(f(A) + J)$ for all j, where $l \in J$. Then there exist $n_j \in \mathbb{N}$ such that $(f(sb_j) + l)^{n_j} = f((sb_j)^{n_j}) + c = 0$ where $c \in J$. Which implies that $(sb_j)^{n_j} \in f^{-1}(J) = \{0\}$. Hence $(s, f(s) + t)(b_j, f(b_j) + k_j) \in nil(A \bowtie^f J)$. As desired.

- (2) Let $F(x) = \sum_{i=0}^{n} (a_i, f(a_i) + j_i)x^i$ and $G(x) = \sum_{j=0}^{m} (b_j, f(b_j) + k_j)x^j$ in $A \bowtie^f J[x]$ such that F(x)G(x) = 0. Set $f_B(x) = \sum_{i=0}^{n} (f(a_i) + j_i)x^i$, $g_B(x) = \sum_{j=0}^{m} (f(b_j) + k_j)x^j$ in (f(A) + J)[x]. Then F(x)G(x) = 0 implies that $f_B(x)g_B(x) = 0$, since f(A) + J is a right weak McCoy which in turn implies that, there existe $(f(r) + t) \in (f(A) + J) - \{0\}$ such that $(f(r) + t)(f(b_j) + k_j) = f(rb_j) + l \in nil(f(A) + J)$, where $l \in J$ for every j. Consider $(r, f(r) + t) \in (A \bowtie^f J)$. We get $(rb_j) \in f^{-1}(J) \subset nil(A)$. Wich implies that $(r, f(r) + t)(b_j, f(b_j) + k_j) \in nil(A \bowtie^f J)$ for every j. Consequently $A \bowtie^f J$ is a right weak McCoy.
- (3) Let $F(x) = \sum_{i=0}^{n} (a_i, f(a_i) + j_i)x^i$ and $G(x) = \sum_{j=0}^{m} (b_j, f(b_j) + k_j)x^j$ in $A \bowtie^f J[x]$ such that F(x)G(x) = 0. Set $f_A(x) = \sum_{i=0}^{n} a_i x^i$ and $g_A(x) = \sum_{j=0}^{m} b_j x^j$ we have $f_A(x)g_A(x) = 0$. Since A is a right weak McCoy, there exist $r \in A - \{0\}$ such that $rb_j nil(A)$ for all j. Consider $(r, f(r)) \in A \bowtie^f J$ then $(r, f(r))(b_j, f(b_j) + k_j) = (rb_j, f(rb_j) + t)$ for all j, where $t \in J$. Since $rb_j \in nil(A)$ and $J \subset nil(B)$ then $f(rb_j) + l \in nil(f(A) + J)$. Consequently we have $(r, f(r)(b_j, f(b_j) + k_j)) \in nil(A \bowtie^f J)$. Hence $A \bowtie^f J$ is a right weak McCoy.
- (4) Let S be the set of regular central elements of B, and suppose that $J \cap S \neq \emptyset$.

Suppose that f(A) + J is a right weak McCoy ring, we show that $A \bowtie^f J$ is .

Let $F(x) = \sum_{i=0}^{n} (a_i, f(a_i) + j_i) x^i$ and $G(x) = \sum_{j=0}^{m} (b_j, f(b_j) + k_j) x^j$ in $A \bowtie^f J[x]$ such that F(x)G(x) = 0.

Set $f_B(x) = \sum_{i=0}^n (f(a_i) + j_i)x^i$, $g_B(x) = \sum_{j=0}^m (f(b_j) + k_j)x^j$ in (f(A) + J)[x] and $f_A(x) = \sum_{i=0}^{i=n} a_i x^i$, $g_A(x) = \sum_{j=0}^{j=m} b_j x^j$ in A[x]. F(x)G(x) = 0 implies that $f_A(x)g_A(x) = 0$ and $f_B(x)g_B(x) = 0$.

 $f_B(x)g_B(x) = 0$ and (f(A) + J) is a right weak McCoy ring implies that there exist non zero element $(f(r) + l) \in f(A) + J$ such that $(f(r) + l)(f(b_j) + k_j) \in nil(f(A) + J)$ for all j. Thus $e(f(r) + l)(f(b_j) + j_i) \in$ nil(f(A) + J) and so $(0, e(f(r) + l))(b_j, f(b_j) + k_j) \in nil(A \bowtie^f J)$ for any $e \in S \cap J$ and for all j. Hence $A \bowtie^f J$ is a right weak McCoy ring.

- (5) Assume that f is injective.
 - 5.1 Suppose that $J \subset f(A)$. Let $f(x) = \sum_{i=0}^{n} a_i x^i$ and $g(x) = \sum_{j=0}^{m} b_j x^j$ in A[x] such that f(x)g(x) = 0. Set $F(x) = \sum_{i=0}^{n} (a_i, f(a_i))x^i$ and $G(x) = \sum_{i=0}^{n} (b_i, f(b_j))x^j$.

$$F(x)G(x) = \sum_{k=0}^{k=n+m} \left(\sum_{i+j=k} (a_i b_j, f(a_i b_j)) \right) x^k$$
$$= \sum_{k=0}^{k=n+m} \left(\sum_{i+j=k} a_i b_j, \sum_{i+j=k} f(a_i b_j) \right) x^k$$
$$= \sum_{k=0}^{k=n+m} \left(\sum_{i+j=k} a_i b_j, f\left(\sum_{i+j=k} a_i b_j\right) \right) x^k$$
Hence $F(x)G(x) = 0$.

Since $A \bowtie^f J$ is a right weak McCoy then there exist $(r, f(r) + t) \in$ $(A \bowtie^f J) - \{(0,0)\}$ such that $(r, f(r) + t)(b_i, f(b_i)) \in \operatorname{Nil}(A \bowtie^f J)$ for all j.

If $r \neq 0$ we are done.

If r = 0 then f(r) = 0 which implies that $f(s) = t \neq 0$ where $s \in J$, and so $s \neq 0$. Then $f(s)f(b_i) = f(sb_i) \in nil(f(A))$. Since f is injective then $sb_i \in nil(A)$. Consequently A is right weak McCoy.

5.2 Suppose that $f(A) \cap J = (0)$. In this case $A \bowtie^f J \simeq f(A) + J$ and the conclusion follows.

Corollary 2.4. Let (A, B) be a pair of rings, $f : A \longrightarrow B$ a ring homomorphism, and J be a proper ideal of B.

- 1. Assume that J is semicommutative. If A is weak Armendariz then $A \bowtie^f J$ is right weak McCoy.
- 2. Assume that $f^{-1}(J)$ is semicommutative. If f(A) + J is weak Armendariz then $A \bowtie^f J$ is right weak McCoy.
- (1) Follows from [14] [Theorem 4.1(6)] and the fact that weak Armen-Proof. dariz ring is right weak McCoy.
 - (2) Follows from [14] [Theorem 4.1(7)] and the fact that weak Armendariz ring is right weak McCoy.

Proposition 2.5. If $nil(A) \triangleleft A$ and $J \subset nil(B)$, then $A \bowtie^f J$ is weak McCoy.

Proof. Since $nil(A) \leq A$ then A is weak Armendariz, which implies that $A \bowtie^f J$ is weak Armendariz by [14][Theorem 4 (4)]. Wich in turn implies that $A \bowtie^f J$ is weak McCoy.

Corollary 2.6. If A is semicommutative and $J \subset nil(B)$, then $A \bowtie^f J$ is weak McCoy.

Proof. Immidiately from the proposition above and the fact that $nil(A) \leq A$ since A is semicommutative [12][Lemma 3.1].

Corollary 2.7. If A and f(A) + J are semicommutatives rings, then $A \bowtie^f J$ is weak McCoy.

Proof. Immidiately from 2.2 since $A \bowtie^f J$ is a semicommutative ring.

 \square

 \square

Now, we construct a new class of right McCoy rings.

Example 2.8. Let R be a semicommutative ring. We consider $R[x]/(x^n)$ where n is a positive integer such that $n \ge 2$. Let $f : R[x]/(x^n) \longrightarrow R$ such that, $f(\overline{P(x)}) = P(0)$. Let J = (eRe) be an ideal of R generated by e where e is a nilpotent element of R. Then:

- (1) $R[x]/(x^n)$ is a right weak McCoy.
- (2) $R[x]/(x^n) \bowtie^f J$ is a right weak McCoy ring.
- *Proof.* (1) Clear since $R[x]/(x^n)$ is weak Armendariz ring by [12][Theorem 3.9].
 - (2) Follows from 2.3 since $J \subset nil(R) = (0)$.

Example 2.9. Let A be a semicommutative ring, $f : A \longrightarrow A[X]$ the canonical surjection and J = (X). Note that $f^{-1}(J) = \{0\}$.

(1) f(A) + J is right weak McCoy.

(2) $A \bowtie^f J$ is a right weak McCoy ring.

- *Proof.* (1) Clear since f(A) + J = A + (X) = A[X] is a weak Armendariz then right weak McCoy.
 - (2) Follows from 2.3 since $f^{-1}(J) = (0)$ and f(A) + J is right weak McCoy.

Example 2.10. Let A be a semicommutative ring, $f : A \longrightarrow A[X]$ the canonical injection, and J = (X) the ideal of A[X] generated by X. Let $S = \{X\}$. Note that X is a regular central element of A[X]. Then:

- (1) f(A) + J = A + (X) = A[X] is a right weak McCoy ring.
- (2) $A \bowtie^f J$ is a right McCoy ring.
- *Proof.* (1) Clear since f(A)+J = A[X] is a weak Armendariz ring by [12][Theorem 3.8] hence right McCoy ring which implies that A[X] is right weak McCoy ring.
 - (2) Follows from 2.3 since $J \cap S \neq \emptyset$.

References

- D. D. Anderson and V. Camillo. (1998). Armendariz rings and Gaussian rings. Comm. Algebra (26), 2265-2272. https://doi.org/10.1080/00927879808826274
- M. D'Anna. 2006. A construction of Gorenstein rings. J Algebra, 306, 507-519. https: //doi.org/10.1016/j.jalgebra.2005.12.023

- M. D'Anna, C. A. Finocchiaro and M. Fontana. (2009). Amalgamated algebras along an ideal, Commutative algebra and its applications. Walter de Gruyter, Berlin, 241-252. https://doi.org/10.1515/9783110213188.155
- 4. M. D'Anna and M. Fontana. (2007). The amalgamated duplication of a ring along a multiplicative-canonical ideal. Ark. Mat, 45(2), 241-252. https://doi.org/10.1007/ s11512-006-0038-1
- M. D'Anna and M. Fontana, An amalgamated duplication of a ring along an ideal, (2007). The basic properties. J. Algebra Appl, 6, 443-459. https://doi.org/10.1142/ S0219498807002326
- R. Antoine. (2010). Examples of Armendariz rings. Comm. Algebra, 38 (11), 4130-4143. https://doi.org/10.1080/00927870903337968
- Armendariz E. 1974. A note on extensions of Bare and P.P.rings. J Austral Math Soc, 18, 47-473. https://doi.org/10.1017/S1446788700029190
- 8. Boisen M, Sheldon PB. CPI-extension. 1977. Over rings of integral domains with special prime spectrum. Canad J Math, 29, 722-737. https://doi.org/10.4153/CJM-1977-076-6
- S. Ghalandarzadeh, M. Khoramdel. (2008). On Weak McCoy rings. Thai journal of Mathematics, 6, 337-342.
- N. K. Kim, K. H Lee and Y. Lee. (2006). Power series rings satisfying a zero divisor property. Comm. Algebra, 34, 2205-2218. https://doi.org/10.1080/00927870600549782
- 11. T. K. Lee and T. L. Wong. (2003). On Armendariz rings. Houston J. Math, 28 (3), 583-593.
- 12. Z. Liu, R.Zhao. (2006). On weak Armendariz rings. Comm. Algebra, 34, 2607-2616. https://doi.org/10.1080/00927870600651398
- N. H. McCoy. (1912). Remarks on divisors of zero. Amer. Math. Monthly, 49, 286-295. https://doi.org/10.1080/00029890.1942.11991226
- A. Mimouni, N. Mahdou, M. El Ouarrachi. (2017). On Armendariz-like properties in amalgamated algebra along ideals. Turkish Journal of Mathematics. 41, 1673-1686. https: //doi.org/10.3906/mat-1603-135
- M. B. Rege and S. Chhawchharia. (1997]. Armendariz rings. Proc. Japan Acad. Ser. A Math. Sci, [73), 14-17. https://doi.org/10.3792/pjaa.73.14

¹ LABORATORY ANALYSIS, MODELING AND SIMULATION LAMS. FACULTY OF SCIENCES BEN M'SIK, HASSAN II UNIVERSITY OF CASABLANCA, CASABLANCA, MOROCCO. *Email address*: m.elouarrachi@gmail.com

² MATHEMATICS AND INTELLIGENT SYSTEMS MASI. NATIONAL SCHOOL OF APPLIED SCIENCES OF TANGIER, ABDELMALEK ESSAADI UNIVERSITY, TANGIER, MOROCCO. *Email address*: bouchikhi.abdelmonaim@gmail.com